
db =
−
b

ij
� = i� j�h = i� j�h m

−
�̀�n

=
`

( −

··hg
··
)n

m

µνh = µ−
� µ−
�h = µ�ν�h m

−
h̀�n

=
`

( −

··h�
··
)n

m

mn
η = mn� = m£ n£� = mf nf� cst m

−
�̀gn

=
`

( −

··�g
··
)n

m

2 m

−
�̀�n

Y [
nk
�= �̀ |

−

mk
� + m� |

−

`k
� − k� |

−

`m
� + �̀m�|

−
!n

Y [ nk
� − k�m�|

−
!n

Y [ n
�̀ − k� �̀|

−
!n

Y [
nm�

m

−
�̀�n

Y [
nk
�= α

= �̀ D
mk
�

�̀|
−

mk
�

Y [

+ β

= m� D
`k
�

m�|
−

`k
�

Y [

+ γ

= k� D
`m
�

k�|
−

`m
�

Y [

+ λ �̀m�|
−
!n

Y [ nk
� +µ k�m�|

−
!n

Y [ n
�̀ +ν k� �̀|

−
!n

Y [
nm�

2 m

−
h̀gn

Y [
nk
h = `−

� |
−

mk
h + m−

� |
−

`k
h − k−

� |
−

`m
h + `−

�m−
�|

= 0

d
−
�n

X Z

Y [
nk
h − k−

�m−
�|

= 0

d
−
�n

X Z

Y [
n
h̀ − k−

� `−
�|

= 0

d
−
�n

X Z

Y [

nmh

= `−
� |

−

mk
h + m−

� |
−

`k
h − k−

� |
−

`m
h

2 m

−
�̀�n

Y [
nk
� = £̀ |

= 0
−

mk
�
XZ

+ m£ |
= 0
−

`k
�
XZ

− k£ |
= 0
−

`m
�
XZ

+ £̀m£|
−
£n

Y [
nk
� − k£m£|

−
£n

Y [
n
�̀ − k£ £̀|

−
£n

Y [
nm�

= £̀m£|
−
£n

Y [
nk
� − k£m£|

−
£n

Y [
n
�̀ − k£ £̀|

−
£n

Y [
nm�



metric



−

i
��m

Y [
mj
� +

−

j
��m

Y [
mi
� =

−

ij
� β = 1/2:γ = −α:µ = −λ

−

i
hgm

Y [
mj
h +

−

j
hgm

Y [
mi
h =

−

ij
h β = 1/2:γ = −α

−

i
��m

Y [
mj
� +

−

j
��m

Y [
mi
� =

−

ij
� µ = −λ

k�
−

i
��m

Y [
mj
� +

−

j
��m

Y [
mi
�

X Z

=
k

−

i
��m

Y [
mj
� +

k

−

j
��m

Y [
mi
�= α i� |

−

kj
� +β k� |

−

ij
� +γ j� |

−

ik
�

+λ i� k�|
−
!n

Y [ nj
� +µ j� k�|

−
!n

Y [
ni
� +ν j� i�|

−
!n

Y [ nk
� +α j� |

−

ki
� +β k� |

−

ji
� +γ i� |

−

jk
�

+λ j� k�|
−
!n

Y [
ni
� +µ i� k�|

−
!n

Y [ nj
� +ν i� j�|

−
!n

Y [ nk
�= k� |

−

ij
�

k−
�

−

i
hgm

Y [
mj
h +

−

j
hgm

Y [
mi
h

X Z

= k

−

i
hgm

Y [
mj
h + k

−

j
hgm

Y [
mi
h =

α i−
� |

−

kj
h + β k−

� |
−

ij
h + γ j−

� |
−

ik
h + α j−

� |
−

ki
h + β k−

� |
−

ji
h + γ i−

� |
−

jk
h = k−

� |
−

ij
h

k£
−

i
��m

Y [
mj
� +

−

j
��m

Y [
mi
�

X Z

= k

−

i
��m

Y [
mj
� + k

−

j
��m

Y [
mi
�

= λ i£ k£|
−
£n

Y [
nj
� + µ j£ k£|

−
£n

Y [
ni
� + ν j£ i£|

−
£n

Y [
nk
�

+λ j£ k£|
−
£n

Y [
ni
� + µ i£ k£|

−
£n

Y [
nj
� + ν i£ j£|

−
£n

Y [
nk
� = k£ |

−

ij
�



tors free



−
!i −!j?

−

j
��i

Y [

= 0 α = β:λ = 1/2:µ = ν

−
�j?

−

j
hgi

Y [

= 0 α = β
−
£i −£j?

−

j
��i

Y [

= 0 λ = 1/2:µ = ν

p� q�|!
j?

−

j
��i

Y [

X Z

i
�̀= p�!

j

Y [
q�|

−

j
��i

E
i
�̀ − q�!

j

Y [
p�|

−

j
��i

E
i
�̀= q�|

−
p��

i

E
i
�̀ − p�|

−
q��

i

E
i
�̀

= q

−
p� �i

i
�̀ − p

−
q� �i

i
�̀= α p� |

−

q
�̀ +β q� |

−

p
�̀ +γ �̀ |

−
pq� +λ p� q�|

−
!n

Y [ n
�̀ +µ �̀ q�|

−
!n

Y [
np� +ν �̀ p�|

−
!n

Y [
nq�

−α q� |
−

p
�̀ −β p� |

−

q
�̀ −γ �̀ |

−
qp� −λ q� p�|

−
!n

Y [ n
�̀ −µ �̀ p�|

−
!n

Y [
nq� −ν �̀ q�|

−
!n

Y [
np�= p� q�|

−
!n

Y [ n
�̀

p−
� q−
�|

−
�j?

−

j
h�i

E

X Z

i
h̀ = p−

�
−
�j

Y [

q−
�|

−

j
h�i

E
i
h̀ − q−

�
−
�j

Y [

p−
�|

−

j
h�i

E
i
h̀ = q−

�|
−

ph�
i

E
i
h̀ − p−

�|
−

qh�
i

E
i
h̀

= q

−

ph �i

i
h̀ − p

−

qh �i

i
h̀ = α p−

� |
−

q
h̀ + β q−

� |
−

p
h̀ + γ `−

� |
−

pqh − α q−
� |

−

p
h̀ − β p−

� |
−

q
h̀ − γ `−

� |
−

qph = 0

p£ q£|£
j?

−

j
�gi

E

X Z

i
�̀ = p££

j

Y [
q£|

−

j
�gi

E
i
�̀ − q££

j

Y [
p£|

−

j
�gi

E
i
�̀ = q£|

−

p�g
i

E
i
�̀ − p£|

−

q�g
i

E
i
�̀ = q

−

p� gi

i
�̀ − p

−

q� gi

i
�̀

= λ p£ q£|
−
£n

Y [ n
�̀ + µ £̀ q£|

−
£n

Y [
np� + ν £̀ p£|

−
£n

Y [
nq� − λ q£ p£|

−
£n

Y [ n
�̀ − µ £̀ p£|

−
£n

Y [
nq� − ν £̀ q£|

−
£n

Y [
np� = p£ q£|

−
£n

Y [ n
�̀

¿ X−→ &
nR

n

0 = d mδ
n

Y [
= d mX

λ

λX
n

Y [

= m

−
Xλ

Y [
λX

n
+ mX

λ

λ

−
Xn

Y [

m¼
n − mX

µ

µb
ν

νX
n

= m

−
Xλ

Y [
λX

n
= − mX

λ

λ

−
Xn

Y [


